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13. Evaluate the expression

14.

15:

16.
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a 0 b
0 i 0
b 0 a
a 2 -b
0 i a
o 0%
(g} R Y W T G 1
a-—b a? + 2ab + b?
) az — b? @ a—b
a? + b? a2 +ab + b?
Solve for x and y:

4(12x — 13y + 4) = 5(6x + S5y — 5)
33x +2y+6) =28 —y + 6)

the value of x lies in the range
() -2 =x<0. 3)2 = x <4 (5) 6 =x<8.
2 0=5x<2 4) 4 <x<6.

The value of y in Question 14 lies in the range
(I)-2=2y<0. @B)2sy<4 ()6s=syc<s.
2 0=syc<2 44 sy<6. .

Solve for x and y:
11(10y — 60x) = —30(68 + 2x + Sy)
2(24 — 9%6x — 48y) = —35(18 — x + 6y)

The value of x lies in the range (Choose your answer from the choices

given for Question 14.).

The value of y in Question 16 lies in the range (Choose your answer

from the choices given for Question 15.).



